
 

1. If log௔ 𝑃 = 3 and log௔ 𝑄 = 5 and log௔ 𝑅 = 7 find the value of 

a. log௔
௉రோమ

ொయ  

b. log௔
൫௉షమொమ൯

షభ

ோయ
 

2. If logହ 4 = 𝑎 and logହ 3 = 𝑏 find the value of 
a. logହ 36 

b. logହ ቀ
ଶ଴

ଷ
ቁ 

3. Find the value of 𝑥: 
a. log(𝑥 + 1) + log(𝑥 − 2) = 1 
b. logଶ 𝑥 − logଶ 3 = 2 
c. log௔ 𝑥 + 2 log௔ 𝑥 = log௔ 8 
d. logଶ(9𝑥 + 5) − logଶ(𝑥 − 1) = 2 
e. log 2 + log3 = log 𝑥 
f. logଷ(5𝑥 + 7) − logଷ(𝑥 − 1) = logଷ(3𝑥 + 2) 
g. logଶ 5 + logଶ 7 = logଶ 𝑥 
h. logଷଶ 56 − logଷଶ 7 = 𝑥 

4. Simplify: 
a. logଷ 9√27 

b. logହ 25 (5)
భ

య 
c. logଶ଻ 3 
d. logସ 8√32 

 


